forear = qrer

qiferes feafa @)

QAT grafg® (F) | grafaw @) HeaHT = ST
qEY [T I8 ETI ras B S s I 1 £ I =1
5-9 0 0
10-14 9 1 3 12 1
15-24 1 2 6 12 1 46 2
25-34 12 1 1 10 8 31 1
35-44 8 1 3 8 4 23 1
45+ 4 1] 0
JHT AGAH! 0
STHAT 50 5 13 0 35 0 23 11 5
foreetr adta ATRETE
qifere feafa @)
QAT grafg® (F) | grafaw @) HeaHT = ST
RES I =i B Rz e N = N = e N = A £ N
59 1 1 0
10-14 1 1 3 2 16 1
15-24 20 1 22 4 1 1 12 68 6
25-34 12 6 28 1 97 0
35-44 9 6 6 2 23 0
45+ 2 9 6 3 20 0
JHT TAGAR 0 0
STHAT 55 2 46 4 56 1 28 185 1
forear geter asrar
qiiferes feafa @)
[SHT grafas (&) | wrafas @) HeTHAT 3= STEAT
9 [T I8 ET I xS S s I = e I =1
959 2 1 1 4 0
10-14 4 0 3 [} 1 0
15-24 9 19 1 16 3 8 a8 4
25-34 9 9 1 9 9 24 1
35-44 0 5 5 6 16 0
45+ 1 1 1 3 0
IHT AGAD! 0 1 1 0
STHAT 11 0 36 2 30 3 24 107 5
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ofifers feafa @)




SEK grafas (&) | wrafas @) HeHT I= SEAT
RES I = S RO e N o N - e I o 1 e £ I L
59 0 0
10-14 9 1 3 12 2
15-24 26 3 28 1 28 9 91 6
25-34 10 8 9 3 30 0
35-44 4 9 [} 3 16 0
45+ 6 3 4 2 195 0
IHT AGAH! 0 0
STHAT 59 4 a7 1 45 11 164 8
fsrear T
9t feafa @)
[SHT grafg® (&) | grafgw @) HeqHAT = ST
T T O [@EY @ [y [ QY [
959 0 0
10-14 15 1 15 1
15-24 i 10 16 9 14 80 10
25-34 16 1 25 12 6 59 2
35-44 12 1 1 [/} 6 29 1
45+ 2 4 1 1 0
JHT AGAD! 1 1 0
STHAT 87 13 92 0 21 21 193 14
feaT afear
oifers feafa @)
QAT grafas () | wrafas @) qeaHr I STEAT
T T C=1 I ras B S s N = £ I 1
99 0 0
10-14 0 0
15-24 2 [ 2 8 0
25-34 3 1 1 [ 12 1
35-44 0 2 2 0
45+ 2 1 3 0
I AGAD! 0
STHAT H] 0 3 0 1 6 25 1
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qiiferes feafa @)
QAT grata® (%) | yratas (@) HeqHT = ST
T kSl F[EY @ [@EY [ [T [
5-9 0 0




10-14 0 0
15-24 1 6 1 10 2 19 1
25-34 1 6 6 2 15 2
35-44 6 ] 1 12 0
45+ 2 3 1 0
JHT AGAD! 0
STFAT 2 0 20 1 24 6 52 3
FretT FeaTqT
qiiferes feafa @)
[HT grafgs %) | grafgw @) HeTHAT I=T T
qEE [T I8 ETI xS S s N 1 £ I =1
5-9 0 0
10-14 0 0
15-24 1 1 0
25-34 0 0
39-44 0 0
45+ 0 0
JHT AGAD! 0 0
STHAT 1 0 0 0 0 0 1 0
et FeparmqY
qifere feafa @)
AT grafg® (F) | grafaw @) HeaHT = ST
RES I = B Rz 1O e N o N = e N = 1 e N
5-9 0 0
10-14 1 1 0
15-24 6 1 9 1 3 1 19 2
25-34 3 6 6 1 16 1
35-44 0 9 2 1 12 0
45+ 3 3 3 0
JHY AGAET 0
STHAT 13 1 21 1 14 3 51 3
e FaR
qiiferes feafa @)
[SHT grafg® (#) | grafgw @) HeTHAT 3= ST
9T [T I8 E T xS e A s N 1 e I 1
59 0 0
10-14 0 0
15-24 2 2 0
25-34 0 0
35-44 0 0




45+ 1 1
IR AGAD! 0
STHAT 0 3 0 0 0 3 0
fsreat faaas
qiifere feafa @)
[SHT grafg® (&) | grafgw @) HeTHAT = ST
T T O [@EY @ [@EY [ [[EY &
95-9 0 0 0
10-14 0 1 0 1 0
15-24 2 0 1 3 6 0
25-34 2 2 1 2 1 0
35-44 2 2 2 1 1 0
45+ 1 1 1 3 0
JHT AGAD! 0 0 0
STHAT 1 6 0 4 1 24 0
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ot feafa @)
EEKd grafgs %) | grafgs @) HeHT 3= STEAT
T T C=1 I ras B S s M 1 £ I 1
99 0 0 0
10-14 1 1 0
15-24 8 6 3 1 18 3
25-34 1 1 6 3 23 1
35-14 2 1 1 1 0
45+ 1 1 0
I AGAD! 0 0
STHAT 19 17 0 10 4 50 4
foreat =&
qiiferes feafa @)
QAT grafa® (%) | yratas (@) qeaqr I=T STEAT
T kSl O [EY @ [@EY [@& QY [
5-9 0 0 0
10-14 0 0 0
15-24 1 1 1 0 3 0
25-34 1 1 1 3 0
35-44 1 1 0
45+ 0 0
JHT qGAD! 0 0
STHAT 2 2 0 1 2 1 0




fSTeetr wTEATST ool P

ot feafa @)

QAT grafg® (F) | grafegw @) YT 3= ST
RES I = S Rz e N = N = e N = 1 £ N
5-9 13 9 13 9
10-14 324 125 60 39 21 1 13 1 424 182
15-24 667 95 829 83 692 94 321 26 2515 298
25-34 21 9 603 1 9512 9 408 1 1164 18
35-44 15 3 362 241 9 194 918 10
45+ 112 1 415 118 2 136 8 3
SHY TGAFT 6 1 2l 1 15 1
STHAT 1478 234 2216 131 1658 124 1078| 28| 6490 517
fSieett FTSHTST s aATfay
qiiferes feafa @)
[HT grafg® (%) | grafgw @) HETHAT 3= T
9T [T I8 ET I ras B S s I 1 e I =1
59 0 0 0
10-14 30 [} 4 1 1 35 5
15-24 123 [} 126 3 82 5 32 1 363 13
25-34 i 144 3 91 a3 285 3
35-44 34 n 20 28 153 0
45+ 24 94 30 28 136 0
JHT AGAB! 1 1 2 0
STHAT 253 8 399 6 189 5 133 2 974 21
fSrear afaduz =a® faa
qiifere feafa @)
AT grafg® (&) | grafaw @) HeTHT 3= T
RES I = S Rz L e N | N e N = A £ N
59 24 9 2 1 26 10
10-14 82 65 qn 21 10 1 134 92
15-24 213 80 131 42 185 36 B 5 608 163
25-34 55 1 82 5 89 1 52 218 30
35-44 y) 1 4] 68 9 19 151 6
45+ 25 46 19 1 19 1 139 2
JHT AGAR 0 2 1 3
STHAT 420 168 395 15 403 956 161 6 1339 305
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99 2 2 0
10-14 24 2 8 4 1 31 2
15-24 10 3 39 1 a7 1 6 158 9
25-34 20 34 21 1 88 0
35-44 4 21 18 2 91 0
45+ 3 16 12 2 33 0

JHT AGAD! 1 1 0
STHAT 123 9 Lr4] 1 108 1 18 0 310
feetr ah Y =@ a1fe?
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SHY grafa® (&) | wrafas @) TegaT = STHEAT
RES I = B O[T B [y [ [

59 0 0 0
10-14 3 1 1 0
15-24 4 26 13 1 61 0
25-34 13 23 1 1 94 0
35-44 3 18 9 0 26 0
45+ 1 12 1 18 0

THT AGAD! 2 2 0
STHAT 1 0 80 0 i 0 3 0 169
et Ih IR e AT
qiifers feafa @)
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99 0 0 0
10-14 14 2 1 2 2 19 6
15-24 16 2 950 2 16 0 1 156 4
25-34 21 21 23 1 10 81 1
39-44 6 36 6 4 92 0
45+ 2 9 3 14 0

JHT AGAD! 1 1 0
STHAT 93 4 120 4 18 3 28] 0 319




